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= 6.0 : —— 65 to 0 deg
= | B0 to 90 deg
g :

5.5

5.0

4.5 - i - - : -

D080, 00 09: 00,00 D000 Q000,00 Q00,00 D0z00.00 000,00
13,/10/ 5008 o8,/10,/ 3008 1% /11 /3008 57 /11 /2008 12/12 5008 27 B 5008 11,701 /2008

Timz [atart of day]




12

O3 winr [ppmy] for pressure 10.0 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

B
o
o —B5 to —20 deg
. [F-E1-20 tn 20 deg
= 20 to 85 deg
z —— 65 to 0 deg
= &0 to 90 deq
a
a ' ' : ' : :

D0-o0.C0 000,00 D00, 0 000,00 Q000,00 Q00000 000,00

13,716,/ 5006 2710 /2008 12/11,/2008 57 /11, 2008 12,12 /2008 27/1 273008 11,/01 /2009

Timz [atart of day]




HMO3 wmr [pprry] for pressure 1000 KPa

0,008

0,005
o H—+—90 to —E0 deg
004 B0 ta —65 deg
® —B5 to —20 deg
w [F-E1-20 ta 20 deg
= 20 to 35 deq
= —— 65 to 0 deg
S 0.003 B0 to 90 deg
&

0.002

£,001 - . . , : :

O 50,000 ;00,00 L EAN [EATREN Q000,00 000,00 Qcy 00,00
13,/10/ 5008 o8,/10,/ 3008 1% /11 /3008 57 /11 /2008 12/12 5008 27 B 5008 11,701 /2008

Timz [atart of day]




CH4 wnr [ppmy] for pressure 10.0 hPa

2.0

1.6
¥ H—+—90 to —E0 deg
=y B0 ta —65 deg
K3 —B5 to —20 deg
m [F-E1-20 ta 20 deg
2 20 to 35 deq
5| —— 65 to 0 deg
= 0.8 B0 to 90 deg
8

0.4

0. : . : ; : :

O 50,000 ;00,00 L EAN [EATREN Q000,00 000,00 Qcy 00,00
13,/10/ 5008 o8,/10,/ 3008 1% /11 /3008 57 /11 /2008 12/12 5008 27 B 5008 11,701 /2008

Timz [atart of day]



Cally cwverage [see titla]

MNZ2 wrnr [pprev] for pressure 190.0 hPa

0.25
0,20
+—+—8C to —80 deg
.15 4% —B0 ta —B5 deg
—G3 to —20 deg
[E1—-2C to 20 deg
20 to 35 deq
0.1 —ES to 30 deq
' 50 to 90 deg
005
; : : : : i '
0.1 Fopd T . - : =
Dotz 0,2 CrEs 00,5 Rl AN ) Q0000 00, O Q0L 00 O 00, S
13710,/ 2008 28,10/ 2008 12/11,/2008 711,/ 2008 12712 /2008 A7 2008 11,701 /2809

Timz [atart of day]




Caily overage [see title]

MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa

0,008

(LRI,

0.008 |
a0 ta —E0 deg
0.00% % —B0 to —65 deg
—G3 to —20 deg
5004 [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
0,003 | 80 to 80 deg

o2

.00

.00 - . . , : :
D500 (000,40 00,00 (006,50 (00, 00 D0, 1 A 00,0
13716,/ 2006 2 /10, 2008 1241 ,/9008 57 A1 20008 12712 F2008 27 /12 £50086 11,781 /2008

Timz [atart of day]



Caily overage [see title]

alev<0 [ppmy] for pressure 10.0 hPa

0,016

o014

0.012
[—+—00 ta —50 deg
& D*I-:}L_ BT || %—B0 to —B5 deg
B —B5 to —20 deg
0.008 [F-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
0,006 E0 ta 00 deg
o004
£.002
O, 000 ; : : - : .
OOz G0LCD Qi 00,00 AN Q000,50 Q400,00 Q00000 0 00,00
13,710/ 2008 28,10,/ 2008 12/11,/2008 57 711 /2008 12,/12 /2008 27 /1275006 11,701 /2008

Timz [atart of day]




Caily everage [see title]

F11 winr [ppmy] far pressure 10.0 hPa
351070 : : :

I.ox107?

251079
H——00 to —E0 deg
3(—B0 ta —B5 deg
2.0x107 —65 to —20 deg
[-E1—20C ta 20 deg
[ 20 to 35 deq
15107 [ ke ——65 to 80 dag
50 to 00 deg
107078
GRS

001,090 (000,40 00,00 (006,50 (00, 00 D0, 1 A 00,0
13716,/ 2006 2 /10, 2008 1241 ,/9008 57 A1 20008 12712 F2008 27 /12 £50086 11,781 /2008

Timz [atart of day]



CLMO wmr [ppmy] for pressure 10.0 hPa

00014

0.0012
B 0.0010 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® 0 oo0s [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 0.0006

0.0004

0.0002 - . . : : :

D0z 00L00 00 00,00 D0:C000 000,00 Q000,00 Q000,00 000,00
13,/10/ 5008 o8,/10,/ 3008 1% /11 /3008 57 /11 /2008 12/12 5008 27 B 5008 11,701 /2008

Timz [atart of day]




MNZCE vimr [pprmy] far pressure 19.0 hPa

08030

0.0025
B 0.0020 [—+—00 ta —B0 deg
- - —B0 to —65 deg
o —B5 to —20 deg
= 0.0015 [F-E1—-20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
& 00010

0.0005 gz2--

00,0000 TR AR AT Vg T e

D080, 00 09: 00,00 D000 Q000,00 Q00,00 D0z00.00 000,00
13710,/ 2008 28 10,/ 2008 12/11,/9008 57 F11,/ 2008 12712 /2008 27 /12 730086 11,701 /2008

Timz [atart of day]



Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa
LTS [ : : :

25107
—
2.0%1% H—+—00 to —E0 deg
e —B0 to —BS deg
—G3 to —20 deg
R [F-£1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
0 to 90 deg
1.0x107
Bnx107?

o - . - . - .
D500 (000,40 00,00 (006,50 (00, 00 D0, 1 A 00,0
13716,/ 2006 2 /10, 2008 1241 ,/9008 57 A1 20008 12712 F2008 27 /12 £50086 11,781 /2008

Timz [atart of day]



Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

05107
36«10t
NS [l
H—+—00 ta —E0 deg
e —B0 to —BS deg
—
2.5¥10 —B5 to —20 deg
[F-£1—20 to 20 deg
20 to 35 deq
20x107 ——65 to 80 dag
50 to 90 deg
1.5x1074
102107
NP : : : : : '
D0-o0.C0 000,00 D00, 0 000,00 Q000,00 Q00000 000,00
13,710,/ 2006 28,10/ 2008 1211 /2008 57 S,/ 2008 12,412 /2008 27,12 /3008 11,701 /2008

Timz [atart of day]




Caily averaga [eea titla]

251070

CCL4 wmr [pprov] for pressure 19.0 hPa

2.0x1077

1.5x107"

+—+—8C to —80 deg
=3 —B0 to —B5 deg

103107 —G5 to —20 deg
[E1—-2C to 20 deg
20 to 35 deq
5051078 ——65 to 80 dag
50 to 90 deg
o
—5.0:x1070 :
— 10107 . 5 . . : !
00001060 0 001,000 Q000,00 000,80 (200, 00 Q000,00 (0001, C01
13,710,/ 2006 28,10,/ 2008 12411 /2008 27 A1 /2008 12,/12 /2008 2712 /3008 11,701 /2009

Timz [atart of day]




HCMH wrr [pprov] for pressure 100 hPa

1.0 H : H

P [+ eee e o ............................ o ............................
¥ H—+—00 to —E80 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ................................................................................................................. R R e L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
&

. ........................................................ S ......................................................... ........................................................

iR ; : : - : .

D080, 00 09: 00,00 D000 Q000,00 Q00,00 D0z00.00 000,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]



F14 vinr [ppmy] for pressure 10.0 hPa

1.0 H : H

P [+ eee e o ............................ o ............................
¥ H—+—00 to —E80 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
o [F-E1-20 to 20 deg
2 20 to 35 deq
E ................................................................................................................. R R e L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
&

. ........................................................ S ......................................................... ........................................................

iR ; : : - : .

D080, 00 09: 00,00 D000 Q000,00 Q00,00 D0z00.00 000,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]



Caily averaga [eea titla]

25107

z.u:uxm-‘]

F22 vinr [ppmyv] faor pressure 10.0 hPa

151074 H—+—00 to —E0 deg
4= —BC to —BS deg
—G3 to —20 deg
'|.|:|3{'|C-_+ I e e A L S ...E.,-. [E1—-20C to 20 dEg
W 20 to 85 deg
—ES to 30 deq
&0 to 90 deq
E0x1p70
O
B : - : : : :
D0z 0000 O 00,00 D000 Q000,00 Q000,00 Q0000 0C; 00,00
13710,/ 2008 28,10/ 2008 12/11,/2008 711,/ 2008 12712 /2008 A7 2008 11,701 /2809

Timz [atart of day]




Temperdature [K] for pressure 1.0 hPa

290

ZEC

270
£} (90 to —50 deg
- - —B0 to —65 deg
m 280 —B5 to —20 deg
. [F-£1—20 ta 20 deg
Fa 20 to 35 deq
& 250 —— 65 to 0 deg
= &0 to 90 deq
A

T4

230G

220 : ; : : : :

D0z 00L00 00 00,00 D0:C000 000,00 Q000,00 Q000,00 000,00
13,/10/ 5008 o8,/10,/ 3008 1% /11 /3008 57 /11 /2008 12/12 5008 27 B 5008 11,701 /2008

Timz [atart of day]




Tangent altitude [km] for pressure 1.0 hPa

a2

0 (90 to —50 deg
= aal x—B0 to —E5 deg
o —B5 to —20 deg
o (E-E1-20 ta 20 deg
= 20 to 85 deg
z ” —— 65 to 0 deg
= &0 to 90 deq
&

42 - : - ; -

D0z 00L00 00 00,00 D0:C000 000,00 Q000,00 Q000,00 000,00
13,716,/ 5006 2710 /2008 12/11,/2008 57 /11, 2008 12,12 /2008 27/1 273008 11,/01 /2009

Timz [atart of day]




B.2

HZC winr [pprmv] for pressure 1.0 hP4d

+—+—8C to —80 deg

m
Y B0 ta —65 deg
K3 —B5 to —20 deg
w [F-E1-20 ta 20 deg
= 20 to 85 deg
E?ﬂ” —— 65 to 0 deg
=0 B0 to 90 deg
i

.0 : i : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,/10/ 5008 o8,/10,/ 3008 1% /11 /3008 57 /11 /2008 12/12 5008 27 B 5008 11,701 /2008

Timz [atart of day]




Q3 wmr [ppmy] for pressure 1.0 hPd
=R : : :

4.5

B 40 (90 to —50 deg
- - —B0 to —65 deg
K3 —B5 to —20 deg
> an [F-£1—20 ta 20 deg
2 20 to 35 deq

= —— 65 to 0 deg
= &0 to 90 deq

a

o
F

2.5

2.0 - . - . .
D500 (000,40 00,00 (006,50 (00, 00 D0, 1 A 00,0
13716,/ 2006 2 /10, 2008 1241 ,/9008 57 A1 20008 12712 F2008 27 /12 £50086 11,781 /2008

Timz [atart of day]



HNOZ wrr [pprov] for pressure 1.0 hPa

08012

00018
= 0.0008 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o ooos [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= ] &0 to 90 deq
& 0.0004 b

0.0002 ¢

0,00 s ; : . : , .

D0z 00L00 00 00,00 D0:C000 000,00 Q000,00 Q000,00 000,00
13,/10/ 5008 o8,/10,/ 3008 1% /11 /3008 57 /11 /2008 12/12 5008 27 B 5008 11,701 /2008

Timz [atart of day]



CH4 winr [ppmy] for pressure 1.0 hPd

0.z

0.4
¥ H—+—90 to —E0 deg
a3 B0 ta —65 deg
K3 —B5 to —20 deg
m [F-E1-20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= 0.2 B0 to 90 deg
8

0. : . : ; : :

O 50,000 ;00,00 L EAN [EATREN Q000,00 000,00 Qcy 00,00
13,/10/ 5008 o8,/10,/ 3008 1% /11 /3008 57 /11 /2008 12/12 5008 27 B 5008 11,701 /2008

Timz [atart of day]




0010

{008

0,006

0,004

Caily overage [see title]

0,002

O, 000

13716,/ 2006 2 /10, 2008 12

MNZC winr [pprmv] for pressure 1.0 hPd

T
'
, ' '
' '
: . : .
! ' ! '
! ' ! '
! ' ! '
' '
, ' ,
] : ]
' L} ' L}
: . : .
! ' ! '
' '
e et et e e e e e :.: ............................ S L L.
' '
L} ' L} '
L} ' L} '
: : : :
L} ' L}
: ' :
L} ' L}
: : :
L} ' L}
: ' :
: : :
R L SRS et s B SRR N [
: : :
' '
L} ' L}
' '
' '
' '
' '
' '
' '
' '
' '
' '
' '
' '
............................ T T T e
' '
' '
'
'
'
'
'
'
'
'
L= H
ST T P | '
J-H ‘—'—'-r-qr'l '
[Tttt !
.................... pI= S . WU Y T [ T - A T
= = e
] .
"'.':x.—;";:ag‘ ' [
v H == 0 O

T

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

e

Timz [atart of day]

D500 (000,40 00,00 (006,50 (00, 00 D0, 1 A 00,0
11,/9008 57 A1 20008 12712 F2008 27 /12 £50086 11,781 /2008




Daily averaga [=se titls]

MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa

02005 y
0, 2004
+—+—8C to —80 deg
00003 [— —B0 1o —B5 deg
—G3 to —20 deg
[E1—-2C to 20 deg
20 to 35 deq
(.0002 -l —ES to 30 deq
' i &0 to 90 deg
0.0001 |
0, 2000 : : : : ' ;
Dotz 0,2 CrEs 00,5 Rl AN ) Q0000 00, O Q0L 00 O 00, S
13;"1'2-,.-’20'35 EE!-,.-’“II“_“II.-"'E'DDEI 12f11f2lfllflﬂ E?f*l“lf?ﬂﬂ-ﬁ 1Ef1EfE'DCIEI 2?",-"'12;’20(.‘6 11;"31,-"'2{?DEI

Timz [atart of day]




Caily overage [see title]

MOZ winr, sun elev<0 [ppmy] for pressure 1.0 hPd

0,014
012
0,010
[——00 to —&0 deg
| % —B0 to —B5 deg
©.0038 —B65 to -20 deg
[E1—-2C to 20 deg
20 to 35 deq
08 —FES to 80 deq
&0 to 90 deg
L.004
o002
0,000 : : . :
000000 000,00 Q000,00 a0 00,50 Q000,00 000,00 A 00,00
13/10/ 2008 28/10,/2008 1211 ,/2008 2711 ,/2008 1212 /2008 A7/ 2/2008 11,01 /2008

Timz [atart of day]




Caily everage [see title]

1.6:107

F11 wmr [pprmyv] for pressure 1.0 hPg

1 4x10

1.2_-:,:_-1.:,-4 ......................... : ............................ :

1.0xip~™

A.0x1078

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

B.0x1070

4,0x1070

201070

D500
13716,/ 2006

(000,40
2 /10, 2008

(006,50
57 A1 20008

Timz [atart of day]

(00, 00
12712 F2008

D0, 1
27 /12 £50086

A 00,0
11,781 /2008




CLNO vmr [pprmy] for pressure 1.0 hPa

£.005 :
'::'.I:":I'q- ................................................................................................................... .i ......................................................... [
ar : (90 to —50 deg
I3 [ A S A S — i 80 ta -85 deg
z : 5 : i : i —65 to 20 dsg
n (E-E1-20 ta 20 deg
5 20 to 85 deg
% 'EI |:":|2 ................... _Eﬁ tD El::l dEH
= B0 to 90 deg
&

.00

O
.00 - . . , :
D500 (000,40 00,00 (006,50 (00, 00 D0, 1 A 00,0
13716,/ 2006 2 /10, 2008 1241 ,/9008 57 A1 20008 12712 F2008 27 /12 £50086 11,781 /2008

Timz [atart of day]



NZOE vimr [pprmw] far pressure 1.0 hPa

00012 .

OO0 T | rmrmmmrmm e r o LI T TR EERTRTRE- TR e CLITTERN TSR ;
@' 0LQ008 [rm s s s 7 e [ =Y, R T
' : : : : | B0 to —B5 deg

—G3 to —20 deg
0.0008 Z e e et RS s LI RRREEEEEE po| [FE2E ta 20 deg
; : : ; ; ; 20 to 85 deg

Daily averaga [=ss title

0,500 (--

: ; : —ES to 30 deq
CIN f A\/rﬂf = : 80 to 90 deg
llﬂg":—-" %....E&%_ ) (R, ....-.ﬁf?.

00002

00,0008 . - .
D500 (000,40 00,00 (006,50 (00, 00 D0, 1 A 00,0
13716,/ 2006 2 /10, 2008 1241 ,/9008 57 A1 20008 12712 F2008 27 /12 £50086 11,781 /2008

Timz [atart of day]



Caily everage [see title]

F12 wmr [pprmyv] for pressure 1.0 hPa

2.5%157 :
T : i
EJ:I-‘-‘H'E'H‘ ........................... E ............................ i ........................... E. .......................................................................................
: . : . : P | f—90 to —E0 deg
I-TORT LT IS S S SN S, N SR, | /-r ............. S S L] [$X—B0 to —B5 deg
5 r ' ' 5 H —65 ta —20 deg
EF F 5 - f| 20 ta 20 deg
tf i i i : ik 20 ta 85 deg
! £ ! .| 8BS to 80 d
.1 .l:l W .1 IEI—\I- ......................... E ......... -\ ................. E,i ...................................... E ............................. EH
; \ b4 5 E0 to 90 deg
SrdaS |- ; ........................................................ .;. .................................................................................................................. ,; ........................................................ L.
o ' : ' : ' :
O 50,000 ;00,00 L EAN [EATREN Q000,00 000,00 Qcy 00,00
13,10,/ 5008 2R/10/ 2008 121179008 57411 /2008 12./12 /2008 271275008 11,01 /2008

Timz [atart of day]




Caily averaga [=== title]

Q0004

02003

02002

02007

0,000

—0.0001

COFZ wrr [ppriv] for pressure 1.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

—0.8002 . - : : , :
D500 (000,40 00,00 (006,50 (00, 00 D0, 1 A 00,0
13716,/ 2006 2 /10, 2008 1241 ,/9008 57 A1 20008 12712 F2008 27 /12 £50086 11,781 /2008

Timz [atart of day]




CCL4 wmr [pprov] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]




HCM wrar [pprmv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]




F14 wmr [pprmyv] for pressure 1.0 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]




F22 vmr [pprmyv] for pressure 1.0 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]




Temperdature [K] for pressure ©.1 hPa

7o

e — e — S S———— . io

+—+—8C to —80 deg

4= —BC to —BS deg
—G3 to —20 deg

[E1—-2C to 20 deg

Caily averaga [=== title]

20 to 35 deq
—ES to 30 deq
&0 to 90 deq
210 : : : ; : :
D080, 00 09: 00,00 D000 Q000,00 Q00,00 D0z00.00 000,00
13,710,/ 2006 28,10/ 2008 1211 /2008 57 S,/ 2008 12,412 /2008 27,12 /3008 11,701 /2008

Timz [atart of day]



i

L)

Caily averaqa [eee title]
= =
+ &

[} ]
Fa

g0

Tangent altitude [km] for pressure 0.1 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

5 . - : : , :
D500 (000,40 00,00 (006,50 (00, 00 D0, 1 A 00,0
13716,/ 2006 2 /10, 2008 1241 ,/9008 57 A1 20008 12712 F2008 27 /12 £50086 11,781 /2008

Timz [atart of day]




HZC winr [pprmv] for pressure 0.1 hP4d

0 (90 to —50 deg
- - —B0 to —65 deg
2 —B5 to —20 deg
= [F-E1-20 tn 20 deg
S 20 to 85 deg

z —— 65 to 0 deg

= &0 to 90 deq

&

1

D500 (000,40 00,00 (006,50 (00, 00 D0, 1 A 00,0
13716,/ 2006 2 /10, 2008 1241 ,/9008 57 A1 20008 12712 F2008 27 /12 £50086 11,781 /2008

Timz [atart of day]




1.8

Daily averaga [=as title]

0.2

Q3 wmr [ppmy] for pressure C.1 hPd

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

D500
13716,/ 2006

(000,40
2 /10, 2008

(006,50
57 A1 20008

Timz [atart of day]

(00, 00
12712 F2008

D0, 1
27 /12 £50086

A 00,0
11,781 /2008



Cally cwverage [see titla]

CH4 winr [ppmy] for pressure ©.1 hPd

0,30
025
D28 H—+—00 to —E0 deg
e B0 tn —B5 deg
—G3 to —20 deg
OAE [F-E1—20 to 20 deg
20 to 35 deq
—ES to 30 deq
50 to 90 dag
013 |-
0.05
0.00 : : : ; : :
D10, 00 O 00,010 D000, 00 0000, 00 (000, 00 000000 00 (0,00
13710/ 2006 28,10 /2008 13411 720048 57 A1 7 2006 12,/12 /2008 27 /1275006 11701 /2008

Timz [atart of day]




MNOZ wrar, sun elevs==0 [ppmy] for pressure 0.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]



MOZ winr, sun elev<0 [ppmy] for pressure 0.1 hPd

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]



Daily averaga [=se titls]

F11 wmr [pprmyv] for pressure 2.1 hPa

00035
0.0030
BLOETDE | e .l: ............................ | ............................ : ............................ -. ............................ :
; : ; : ; i | f—+—90 ta -0 deg
¥ D | B0 to —B5 deg
0.0020 —B5 to —20 deg
5 « i | EE-20 ta 20 deg
oy || '1_|-' : 20 to 85 deg
I:'.'::'I:I-I'E' ........................ I I I I I g ..................................... 'I ...................................... e L E _Eﬁ tﬂ Eul.l:l I:IEH
& L : 5 - ] B0 to 90 deg
' "J' | ; : g ¥ i
00010 T : o T, ; | +
i - ; rg - 7 B} %
H - X '
00005 [ B .l ......................................................... PR T
Ul
0,00 s : : : , .
D080, 00 09: 00,00 D000 Q000,00 Q00,00 D0z00.00 000,00
13,10,/ 5008 2R/10/ 2008 121179008 57411 /2008 12./12 /2008 271275008 11,01 /2008

Timz [atart of day]




CLNO vwmr [pprmy] for pressure ©.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]



NZOE vimr [pprmw] far pressure 9.1 hPa

1.0

P [+ eee e o ............................ o ............................
= (90 to —50 deg
f Y P N SO N S U B0 ta —65 deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
5 4 : ' : B0 to 90 deg
a

0.8 S S S S

0.0 : : : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]



Caily overage [see title]

F12 wmr [pprmyv] for pressure 2.1 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

o012
Q.07 [rmremmmrms s T formrmann s T e
' ' i e o e
D008 +-mnmremmreas oo e T bz R ERUEMERCIEGILES
G.DDEE ------------------------ A T -------------------------------------------- oo Y (e | Sl S e —
. e e : H
S N[0T PP e s - ---------- [y, P T -------- ;‘F ---------------------------------- A S Y | = T
s i T i
0,002 " """""""""""""" 2 B """"""""""""""" ‘ """"""""" BN S L eRRLEEEEEEEELLEEEEL "
O, (0 : : : ' : :
Oz G 2 (g 00,010 TR AN Qd00o0 A0, Q0000 O (0,00
13710,/ 2008 28,10/ 2008 12/11,/2008 711,/ 2008 12712 /2008 A7 2008 11,701 /2809

Timz [atart of day]




COFZ wer [ppriv] for pressure 0.1 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]




CCL4 wmr [pprov] for pressure 9.1 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]




HCM wrar [pprmv] for pressure 0.1 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]




F14 wmr [pprmyv] for pressure 2.1 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]




F22 wmr [pprmyv] for pressure 0.1 hPg

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

(NN A Qs 00,00 AN (WA RN 005, a0 0000 ;00,00
13,716,/ 2008 28,410,/ 2008 12,/11,/2008 57 F11 /2008 12712 /2008 27 /15,3008 11,/81 /2000

Timz [atart of day]
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